ARTFERAFIBFERF-FH- 2k RERRE

T O | e || g 5
% X 3T 4L Lt HEY
L ay TREFT | A A - wr |70 BHEY B ki
1|1.21-1.23 BRARRLE 1T G el | R R A () AR R R & 2R AP RART (L)
¥ P b1 5-2|¢ 2 8(3) (MEBE |z E-mmMHYALR |dF 2
127 iR %50 2 7 A |5-3 B F AR LE B
2 |1.26-1.27 N L
9294 «'ﬁ?% Fo%k |- 1000 v p pRER H(6)  [BoRF R KX E RBIP LG AERT(F
2.24-2.27 Foapk A endic -1 1-2 Mg~ LD I VS A - F ()
3 2.25 ¥ Fe B (-) v
2. 97 B i - J
i%’*f’ilﬁﬁ: 51"*‘-/:«?’7
3.4 (2 ) srmp]FE M |- 21000 p =25 R H(6) A R KL Al A T KT R
4 13.9-3.6 Fark (s (g ]-3 14 HMER S | To b TR [HaR (F
%P B FaxT
feibE sijg | PR |Z 2 ol | # e (6) [RR < B A (BREE|D L T2 RET ()
3.9-3.13 ) ¢ eya x| Ao L e ®oge s | TR EE TR
g A 2-1 2-2 % ki |FRET

PR R

W

poamgpep g |EREE |22 Rleh|j ARSR kA B L (N e QP A §|RIERT R
(=) e R £(6) FEEVE E RS FroEE |FhR(F
3.16-3.20 |3= 53 e SageT

6
3.18 A in s
3 4
MEmirEp g [FIRE (2o a a2 RRAQ) (NS TEFE BRI LA TIERIPISK
o H > ARz Lk e-h ROR|FIMNE A (T (%) B
T 13.23-3.27 |(3.25 p s & 2 3-1 3-2 3-3 |[& A (4) ath #4E 5 |jrimes ?%‘L’?{? #R (5)
R P
poapsmgehanee (PP |20 AR AR A RAP(D) A RIN KRR TE A LA I ERT ()
Sl (A Fe 3 Bt #s 5 | & S TED TV EET
3.304.3 & 3-4 (=)@ s AN EV R ()
g S R EERETER = 2 REREET
LIRLE P EaiTER R B ((2) (i)
S {4 4 B . BEHKT (4
4-1 4-2
Bk |p o s |RARESE ARV ALIR BoK|p A F f|EUTERT
48 p s Egn | M (6) B #AB 5 | T ook i (i)
' %5 K Hge o ma R B W Uk (5
46410 R F = aiE g 4-3 44 3 £ 3mSR KT
9 |4.61#P |& (i)
T R R (%)
SR 4.7 - & s BHRET (L)
, BB &Y (%
w5 R
(2 %)
BREER DY BERFRQ) P x |[KAEFES|p 277 |2EFERT
(=) Fe F4E 3 ek #AE S g RETHE ()
o= (=)(3) B SR CE AR
P =g ()
10 |4.13-4.17 NSO,
(4.15-4.17) IR 2R
4 A ()
EHEERT (L)

BERT(4)

1 AN FIRA T 038 ERS- SP- EakF 4 GRreRnd)




OIS T ey & VR LA TS & S AL AER 2 3t i
o mgeef6-l 6-2 6-3 [(- (@) Bk EAES [ g0E |THEE (51
nleooae |0 FREEE Iy U [t FRET (o ixd
P R 4 (=)@ (i)
T R
4B ()
o4 R R [PHERRQ [ (A ams|p 1P g |RuT ERT
4.97 ¥ B 4 T 2 4 %1k |6-4 6-5 Lo g * (4) |v vefEd E)ﬂ'ﬁ" ?#li§ (5)
' S Faxs |piexs
12 14.27-5.1 [4.30% £ & 2 13 ik (%)~ B4
= R (s
T 3
W KT (2)
B2 K- ko |wmarE- |BPEAF R e |f A F g |eRERER
U A F #| e 4 hagd L s |BFERETE |4 ag(s)
13 - EEETRT R f A ¥
5.4-5. 8 i ine* Pl 7 7-1 7-2 7-3 |4#bELs —?\J.%_: - f;%?{?
(2)
g i ) oS~ ES T S WEIPE D REBLRY AT IR Rl [ e R~
‘ TEAE|P 4 ThEER £ #FEUE ()
14 [5.11-5.15 |[B#HEFTLD |44 7-4 P T2 |gaxs |Ri#R(F
7 3 FIHET (L)
- BEEB N A G |ERap L (BESER (3 % B F|p LS g L BEEE KT
(=) (3182 £(3) BEE L |& Lo e|FAAE (g
15 5.18-5.22 |¢ & (7 ir £ FEE IR | PEF |FTRET | GaiT ()
. R E)) FIHT (4)
B A 5 R $ Lok AA G (BEORRO) T (A B p AT ARFEKT
5.25-5.29 02383 FERELE sRaR S & Aow e HADE (R
16 AR EER i+ (3) i PR | FRAKT
e
cEmBry (P Z - ToRA|RgEER06) (B x % B D 3§ RERKT
17 16.1-6.5 1 F B2 (e s+ | FERIE |(F)
6.6 = % & A 9-1 9-2 i By %
Fledk (4> To BA|PMaS6) |REXpR|FEPIS-|AFT |TIek 4 s
R Y E Agerp g | RES v #®7 ()
13 8 P w5 VY HE |(BmusxT ()
18 |6.8-6.12
6.8-6 9-3 R H (5
6.15-6.19 ﬁp;‘;‘r‘iﬁ ‘ig/éﬁ‘ ﬁﬂ%?ﬁ?sx; %miﬁv"'(B) ‘:fff‘% ;ﬁ;;ﬁr\-?& i El _Lﬁgi' Qi % _%(‘;T:)
(z) A et B (BEE i
19 6. 19 %= 5 16. 16 FF 40 @ gy ke i AR T
i 6.18 2 £ 3
6.92 & & Bafip [ E w|5FERY pEArzE \FBErafF L sk T|P LF]
. R 5 (6) B -Doggy  |HhF B
6.23 2 >4 ~ % 3§ v 3> ] [Poo Rk
R P b T (5
20 (6. 22-6. 26 L &8I 5F)
6.24 T #F FHHT (i)
6.25 = xR
6. 26 = H .
6.29 % % = 4% EN-F AR S 3 -3 L ST - iy
AR 5 (6) S et o ) [SUIE R S
21 [6.29-6.30 |6.29 = # R ) EEary o

6.30 %5

AR FERAIF I3 EERY - FP - sk T HGHRERRE)




